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Choose the appropriate word/expression to complete the sentences: 

 

1. You must abstain ......................... all alcoholic drinks. 

(A) of (B) from (C) to  (D) with 

2. I do not approve...............your conduct. 

(A) by (B) for  (C) of  (D) at 

3. I have not seen him.............a month. 

A. from  B. for   C. by  D. in  

4. When I ................. (reach) the theatre, the film..............(start). 

(A) reached, had started  (B) reached, started (C) reached, was starting 

(D)  was reaching, started 

5. All the students just....................... (leave) the class. 

(A) are leaving (B) left  (C) have left  (d) leave 

6. She................. (watch) Television when her friend arrived. 

A. was watching  B. watched  C. would watch D. watches 

7. Change the statement into indirect speech: She said, “I have not read this book”. 

A. She told that I had not read this book.  B. She said that she has not read this 

book. C. She told that she had not read that book. D. None of these 

8. Change the voice:  The students painted the picture. 

A. The picture painted by the students.  B. The picture was painted by the 

students. C. The picture is painted by the students D. None of these 

9. My father gave me...............one thousand rupee note. 

A. a  B. an  C.  the  D. No article 

10. ...................Mount Everest is the highest mountain in the world. 

A.a  B. an  C.  the  D. No article 

11. Replace the underlined word with suitable phrasal verbs: 

Why did he reject my proposal? 

(A) turn off  (B) turn on (C) turn up (D) turn down 

12. A Government by the officials is........... 

(A) bureaucracy  (B) democracy  (C) Autocracy  (D) Aristocratic 

13. The king with his servants.................murdered. 

(A) was  (B) were (C) have (D) none  

14. The synonym of transform is.......... 

(A) soft (B) slow (C) change (D) peace 

15. Bondage is the antonym of......... 

A. Freedom  B. Pleasure C. Humble  D. Safety  

16. Find out the error in the given sentence: Mark the particular section.  

(A) He is seeming/ (B) to/(C) be/(D) happy 

 

Read the passage and answer the questions that follow: 
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Laws of nature are not commands but statements of acts. The use of the word "law" in 

this context is rather unfortunate. It would be better to speak of uniformities in nature. 

This would do away with the elementary fallacy that a law implies a law giver. If a 

piece of matter does not obey a law of nature it is punished. On the contrary, we say 

that the law has been incorrectly started. 

 17. If a piece of matter violates nature's law, it is not punished because 

a) it is not binding to obey it 

b) there is no superior being to enforce the law of nature 

c) it cannot be punished 

d) it simply means that the facts have not been correctly stated by law 

 

 18. Laws of nature differ from man-made laws because 

a) the former state facts of Nature 

b) they must be obeyed 

c) they are natural 

d) unlike human laws, they are systematic 

 19. The laws of nature based on observation are 

a) conclusion about the nature of the universe. 

b) true and unfalsifiable. 

c) figments of the observer imagination. 

d) subject to change in the light of new facts 

 
    

20. The author is not happy with word 'law' because 

a) it connotes rigidity and harshness 

b) it implies an agency which has made them 

c) it does not convey the sense of nature's uniformity 

d) it gives rise to false beliefs 

 

 
  

 

21. If he told me earlier, I................... (help) him. 

A. will help B. would help  C. would have helped  D. helped 

22. India will win this match if.........................it (not rain). 

A. it did not rain B. it will not rain C. it does not rain D.it would not rain 

23. He comes late everyday,.................?  

A. do they? B. did he? C.didn’t he? D. doesn’t he? 

24. She cleared all the papers.........................? 

A. didn’t she? B. does she? C. doesn’t she? D.did she? 
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25. He is ............intelligent..........handsome. 

A. as,than B. both,and C. much, more D. as, but 

26. BJP and Congress contested elections tooth and nail. 

A. in reality B. everywhere  C. usually D. with full fury 

27. He had to cut a sorry figure when the teacher told him to read a passage from the book 

and he could not read. 

A. not fit   B. to be humiliated C. with happy  D. repeated by 

28. Which word is different? 

A. Ambulance  B. Lorry C.Plane D. Van 

29. Which word is different? 

A. Bank  B. Cafe  C. Hotel  D. Restaurant 

30. Which word is different? 

A. Camera  B. Computer  C. Office D. Television 

 

ANSWERS 

1. B 

2. C 

3. B 

4. A 

5. C 

6. A 

7. C 

8. B 

9. A 

10. D 

11. D 

12. A 

13. A 

14. C 

15. A 

16. A 

17. B 

18. A 

19. D 

20. A 

21. B 

22. C 

23. D 

24. A 

25. B 

26. D 

27. B 

28. C 

29. A 

30. C 

 

Aglasem Admission

http://admission.aglasem.com/

